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adiiall jlde galadl caall
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Which is a density-independent factor for aalgl el g ABSH o aaiay Y SU Jalall La

a flock of Canada geese on a large lake? (B Bpaay Ao (gl GoY) (e pakid
O Intestinal worms gaall lasall
O Infectious virus e gagpd
O Dwindling food supply Sl glie dlael
@) Unusually cold winter sslall 5e 3yl eas 4

Which of the following is a characteristic of Al Claws (e dau 2 o Laa g\

exponential population growth? Sadaud) Aulsul)

daball S Jgha ol JE2 3lpad) Dl
O Resources are consumed exponentially during all phases | 5

dond yow Al oW Al B3la3M

O Initial population growth is rapid
O st aa e K80 el B2l e
O Growth rate is inversely proportional to population size

&_)-uuh gaill o J.'nl.alh dls ja
O The lag phase follows rapid growth 4
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Use the graph below of the growth of the
human population through history to answer
the following question:

What is the approximate population difference
between developing countries that have low
fertility rates and developing countries that
have high fertility rates in 20502

Distribution of Population Growth

- -
o -

World population (bilions)
© = N W a WO VOO
\ 1
;_’4
P gl 0
O . NWad>uuowoeod

Pl paill Sy (g3 oUsl JSAD axii)
1 AEYN Jisad G8 LladU ) e Ll
doal) Om OISl 23 B 8Tl (3,40 L

Fiaadid) dugeadll ¥ ama @13 Al
Aaiisall Ayguadl) CV e I3 Apalill Jally

£2050 e b

| emEmacs: i FORCeS AN
! - ! 1900 950 2000 2050
1900 1950 2000 2050
Year W
1.7 billion  ,ld. 1.7
3.2 billion L. 3.2

9 billion 4.9

1.5 billion ke 1.5

.d
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Which is an adverse effect of a
negative—-growth human

population trend?

CF A5 A0 dadud) JEY) (e (g
¢ i) die SIS gall) alddl)

Lol Agagslal) 3yl o dojia e

An excess burden on global natural esources

Juilat dde ) dpclidd AN 3jgd ki
Inadequate financial resources to care for children

Sueall 5Kl ASC N Jidall deelad aitla Nl 38
Too few jobs to support a large, young population

sl SIS B0 laay LD Alelalt 5alSU )
Too few workers to support an aging population
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Which part of the graph below indicates
the carrying capacity of the habitat?

Population Changes Over Time

g______ A, T o W

Time

Anlain) 58 Jiag slial ALl sl e g3 ()

sl icl)! e

¢ ha) gl

el 55,0 AP acld) L
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Use the graph below of the growth of
the human population through history
to answer the following question:
What is the projected population of
developed countries by 20507?

Distribution of Population Growth

Sl IS gadll Jhas (g2 olial JSAI ardi)
AN Jlpeal) o ladd i) e

ple A dasiall Jpall B adgiall Glul) 2 L
£2050

ST PRI

N R T T -]
o

900 w50 2000 2050

O

1.5 billion ;LW 1.5 I
10.5 billion ;W. 10.5
7.3 billion L 7.3

9 billion Lk 9

Which organism follows an r—strategy for

¢ A r-Lanihicl o g3 il L

reproduction?

@ Zebra  iasll jlel
'®) Robin slall o b |
O Mayfly sl (g
O Human Sty
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Which of the following is not used to
describe a population of grizzly bears

in Canada?

dadll a3 Cuagl pdiSed ¥ 4000 leal e (g
IS A dualal

Demographic history & el = ll

Population density 4.1 da6<)

Geographic distribution il yeall xgll

Overall growth rate  Jlay! sall Jass

Which of the following describes the

current human population growth?

fhlla A (al SIS Bl iy Ay Laa ]

e

gl Jomay Balil gl
Increasing growth and rate of growth

gaill | Jinay Ia'..:.‘).'h et il
Decreasing growth and rate of growth

gl s plin g Ll laad)
Decreasing growth and increasing rate of growth

gl Joaa | calidily !.‘.'..‘;F}"'\ t':.i.“n_}‘
Increasing growth and decreasing rate of growth
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A population reaches the carrying

capacity:

Agplaidd) 5o ) Ailal) deland) Juai

Tasedlndd Ao
is reached in r selecled populations

Figina 2jhgall 985 lasie gl (L
is reached as resources become limiting W

= ) Bl gl s
is reached al the end of exponential growth

e L 5% lazie g s

is reached when the environment begins o be harmed 4

Which of the following depends on the
number of members in a population per

unit area?

I piaal) i olas ¥l s o aada s Laa

tdals Bia q)

O||O||O]| O

An abiolic factor  ges 2 Jale

A density-dependent factor astsll e saa: Jale |

A density-independent factor &3t<)l _le sdies Y Jole

A biotic factor s lele

The density-independent factor:

toh ABECY o adiny Y (g3 Jalad)

parasites illalll

disease Ll 5
predation  (um¥l
temperature phall g
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Population growth rate (%) can be
calculated by:

sl o8 (%) _,ul'ud.u.-...u...n,_,s...l

Sl Jaae — byl Jaae 4 adisd) Jaas
10
brithrate +death rate —migration rate

10

5ymgl) Jase + byl Juse 4 adlyl Jase

10
brithrate + death rate + migration rate
10

gl Jome — Al Jama + 3ol Jame

10
migration rate + death rate — brithrate
10

Somed! Jass + Sl Jaas = oJledd) Jass
10
brithrate - death rate + migration rate
10

What is the type of population
Growth in the figure below?

}

£ A JSAN B SIS gail) £y e

Y l..ﬂ 5_

108 6 420246810
Percent of population

CERELELaEERDED

0 8 6 4 202 4 06 810
RIS S PR

slow growth sadl sall
negative growth Ll sl
Zero growth gall saill

rapid growth .yl ool ‘d

d
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If a population grows larger than
its environmental carrying

capacity, then:

] Aglagu) Byalll a8l galy O 33 IS 1)

birth rale may rise significantly

death rate may rise

A0 gagh Jeo 2y

immigration rate may increase

Byale JS8 cldyl) Jine atat b

death rate may fall significantly
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What is the type of dispersion shown in

the figure below?

oliah JEAN A Cpall aujsil £ L

uniform alie

clumped <

random  Jlsie

The type can not be delermined 4cgs waas S Y
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The study of human population size,
density, distribution, movement, birth

rate and death rate is called:

N amag Ajally auj silly ALKy GEL pan Aoy
e BN O aeag BV

Gpaall Sl
age structure

Fall Syl
demographic transition

Ll dolan Ga sl ol Jaith!
Emigration

~E1I.'L]S....].l elaasy! I»-ll-l‘-
Demography



Abdou282188
Highlight


